STARA €

p—
T
(<=}
E=
=
=}
T
o
>
o
T
w0
=
ds)
=
T
=
)
o
=
w
T
L
2
97}
T
(a'a]
=
S
T
_I
o
(am]
=
L
o
o
=
o
)
=
<C
—
=
o
_I
=
)
o
=
o
L
=)
=
>
P
=}
w0
=
L
T
><
L
J—|
J— |
)
| -
I
=
o
L
()]
—
o
T
L
—
T
_I
o
(am]
=
O
(a)
o
L]

1)
<C
2
D
s
=
L
U
=
<C
—
=
(@)
=
ho

—
L

2
U
=
O
o
~N
|
=
<C
o
<C
_I
o
<T
U
ac
<

=
_I
(]
o
L
w
o
—
=
<C
(am

|

I
(&s)
=
—
O
<
_l

—
O

.

@ www.starax.com.tr

n staraxaccessories G starax staraxofficial m starax




» CIFT ACILIM GIZLi RAYLI 3 SEPETLI AHSAP TABANLI 20 CM SISELIK MONTAJ SEMASI (SOL)
» 20 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 3 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (LEFT) S ARA 6

4x

-

N\\N 4x
\ M6x10 YHB

n staraxaccessories G starax staraxofficial m starax o @ www.starax.com.tr



STARA €

p—
T
(<=}
E=
=
=}
T
o
>
o
T
w0
=
ds)
=
T
=
)
o
=
w
T
L
2
97}
T
(a'a]
=
S
T
_I
o
(am]
=
L
o
o
=
o
)
=
<C
—
=
o
_I
=
)
o
=
o
L
=)
=
>
P
=}
w0
=
L
T
><
L
J—|
J— |
)
| -
I
=
o
L
()]
—
o
T
L
—
T
_I
o
(am]
=
O
Lo
L]

1)
<C
2
(7]
s
=
LU
U
=
<C
—
=
(@)
=
bV

—
L

2
U
=
O
LO
|
=
<T
o
<C
_I
o
<T
U
ac
<

=
_I
(]
o
L
w
o
—
=
<C
(am

|

A
(@s)
=
—
O
<
_l

—
O

.

@ www.starax.com.tr

n staraxaccessories G starax staraxofficial m starax




o CIFT ACILIM GIZLi RAYLI 3 SEPETLI AHSAP TABANLI 15 CM SISELIK MONTAJ SEMASI (SOL)
» 15 CM BOTTLE HOLDER WITH FULL EXTENSION UNDERMOUNT RAIL AND 3 WOODEN BOTTOM BASKETS MOUNTING INSTRUCTION (LEFT)

4x W
M4x8 YSB
g

D-1
150
35 86 29
29 28
v ©
+ o+ o+
18
:::‘j
= - ) 4 ) 4
) 4 ) #
Il -
L )L \ M6x10 YHB \ M6x10 YSB

n staraxaccessories G starax staraxofficial m starax e @ www.starax.com.tr



